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Explain the prevention of each of the following nutritional disorders:

{a) calcium and phosphorous; - {6 marks)
(b}  blcat. {14 marks)
i {a)  Highlight the attributes of Boran cattle that make them ideal beef breeds. {10 marks)
(B}  Describe the chamacteristics of a.cow with the following scores in 1 - 5 score scale:
(i)  emaciated;
(il  moderate,
{10 marks)
Fer {a) Describe swarming in bees under the following:
(L) meaning;
(i} signs of swarming;
flit}  control of swarming.
(10 marks)
(b}  Describe the methods used in determining pregnancy in rabbit. {10 marks)
4, Describe wildlife management under the folleWwing:
{a} harvesting of game products; (® marks)
(k) strategic provision of wates {_1 2 marks)
& Explain the factors that are congidered when selecting sheep and poats for breeding.
{20 marks)
& Expdain the management practices that can assist in cestrus detection in a dairy heed.
(20 marks)
o {ay  Highlight four charscleristics of good quality maw milk. {4 marks)
(B}  Desecribe the following milk quality tests:
{1 organoleptic tests;
{ii)  clot on boiling test.
(16 marks)
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£, {a)
(k)
fch
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Explain body condition scoring under the following:
(i) visual scorimg;

{ii) physical scoring.

(4 marks)
Explain the meaning of esch of the following:
{i) dressed carcass;
1§} killing out / dressing percentage.

{4 marks)

A steer weighing 450 kg on pastun: was slaughtered and found 1o have a killing out
percentage of 52%. The steer can lose up to 5% of its body weight if held off feed for
16 hours with no effect on dressed carcass weight. Calculate:

(i) dressed carcass weight in less than 16 hours:

(i) - live weight afier 16 hours:

{i)  killing out percentage after 16 hours.

(iv}  Explain the possible cause of j[ﬁ“diﬂ' erence in killing out percentage of 32% and

that caleulated in ¢ (jii).
{12 marks)
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